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The region represented by
z=x+1wyeC :|z[—Re(z)=1} is also given
by the inequality :
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If « and B be two roots of the equation
x2—64x +256=0. Then the value of
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The values of A and p. for which the system
of linear equations

x+y+z=12

x+2y+3z=5

x+3y+Az=p

has infinitely many solutions are,
respectively :

Options :
40503641719, 2 and 8

40503641720, +and 9
40503641721, 6 and 8

40503641722, 2 and 7
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Let m and M be respectively the minimum
and maximum values of
9 il 1
cos“x I1+sin“x sin2x
9 . .
l+cos™x sin“x sin 2x

4 . . E
als - gl o sin“x 1+8in 2y

Then the ordered pair (m, M) is equal to :
Options :

40503641723, { ~3 —1)
40503641724, (~33)
40503641725, (4 —1)

40503641726, (13)
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40503641723, (3 —1)
40503641724, (=3.3)
40503641725, (4 —1)
40503641726, (1+3)
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Two families with three members each and
one family with four members are to be
seated in a row. In how many ways can
they be seated so that the same family
members are not separated ?

Options :

40503641727 (37 (#)

2. 41
40503641728, (37 (4)

40503641729, - (&)

40503641730, 2 3! 4
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40503641730, 2 3! 4!
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If {p} denotes the fractional part of the

2,200

number p, then s: -, isequal to:
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Leta, b, c, d and p be any non zero distinct
real numbers such that (a®+b?+c%)p? -
2 (ab+bec+ecd)p+ (b?+ > +d?)=0. Then :
Options :
40503641735, @ b, ¢, d are in AP

40503641736, & & P areinG.P.

a, b, c, d arein G.P.
40503641737.

40503641738, & & P arein AP,
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If fix+y)=f(x) fiy) and ;_. ~ f)- 2 5

g
yeN, where N is the set of all natural

J4)

numbers, then the value of (2) is :
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Options :
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The position of a moving car at time t is
given by f(t)= atZ+bt+c, t>0, where
a, b and c are real numbers greater than
1. Then the average speed of the car over

the time interval [t;t,] is attained at the
point :
Options :

Da(t. +£.) +b
40503641747, 2T L)

; )
140503641748, (L t1)/2
—t)/2
40503641749, (2~ 4)/2

40503641750, alla~t)+b
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Options :

Dalt: +£)+b
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_ 1 100
If II:jﬂI{I ") dr and

.
12=J;[1 xP) dx such that I, =al, then

a equals to:

Options :
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The area (in sq. units) of the region
A={x, y):|x| + |y| =1, %= | x|} is :
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The general solution of the differential

R, T Y dy
equation y1+x”+y~ +x7y I_rygzﬂ is -

(where C is a constant of integration)
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:’-‘i ray of light coming from the point

(2, 24/3) isincident at an angle 30° on the

line x=1 at the point A. The ray gets
reflected on the line x=1 and meels r-axis

at the point B. Then, the line AB passes
through the point :

Options :
40503641763. (4, ﬁj
=]
¥ 2 3

40503641764. *

40503641765.

40503641766. (3,3 }
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(2, 24/3) H BT G g T 1 T fahm

T =1 W30° & HW W fag A T A
(incident) BTl & 741 W@l x=1 ¥ Wiafaq &
F1 x-9%1 #1 T4 B W foerdt €, 1 T AB
=1 5 9 form famg 9 St orelt @
Options :

(4,-3)

40503641763.

40503641764. -

(5-1)
V3 )

40503641765.
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Which of the following points lies on the
locus of the foot of perpendicular drawn
upon any tangent to the ellip 5@,

-

1]

e I L=1 from any of its foci ?
4 2 '
Options :
40503641767, \~1r V3
5
40503641768. (12)

40503641769, \~ 1 ¥2)

40503641770.
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Options :

40503641767, 1 V3

7
40503641768. (1.2)

40503641769, 1+ 2
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Let L; be a tangent to the parabola
y*=4(x+1) and L, be a tangent to the
parabola y?>=8(x +2) such that L, and L,

intersect al right angles. Then L I and L2
meet on the s’r_ra_ight line :

Options :
40503641771, ¥+2=

40503641772, 2x+1=0
40503641773, X1+ 2y=0

40503641774.
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Options :
40503641771.

40503641772, 2x+1=0
40503641773, X1+ 2y=0

40503641774.
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The shortest distance between the lines

x 1 y+1

0 1‘? and x+y+z+1=0,

x—y+z+3=0is:
Options :
40503641775.

—

s ey
m’]| -

40503641776.

-

40503641777.

B |

40503641778.
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% l_yll >

0 -1 1 Wx+y+z+1=0,

2e—=y+ 4 3=Dﬁ?ﬂ’ﬁiﬁﬁ[:‘ﬁﬁﬂ@%:
Options :
40503641775, 1

= =

B

40503641776. v <

1
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n

n _ N —a) 2 =ni
If :i_[xi a)J=n and ..[|%—a) =na
1=1
1=1

(n, a > 1) then the standard deviation of n

r

observations Xys Koy iony Xy 181

Options :

o
40503641779, Va1
40503641780, @~ 1

Ja=1
4050364178]1.

40503641782, a1
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n O A2
gfg Y (x;-a)=n W 2 (xi—a)"=na
oy i=1

(n,a>1) %, IR B Xy Xop weey X, 1 A
formem &
Options :

o
40503641779, V™M@~
40503641780, @1

Ja=1
40503641781.
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QOut of 11 consecutive natural numbers if
three numbers are selected at random
(without repetition), then the probability
that they are in A.P. with positive common
difference, is :

Options :
15
40503641783, 1V1
3
40503641784, 2
8
40503641785, 101
10
40503641786, 2
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11 F9IE 9Fd S § g afE 99 g
gz fam wieearamn & frehredl st & & 53
F HEms % g g, faae gEe
SIS 7, | 8 S Wi ©
Options :
15
40503641783, 101
5

40503641784, >3
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The negation of the Boolean expression
Pv(~p~q) isequivalent to:
Options :

40503641787. 7

40503641788, F 7
PA~q

40503641789.

40503641790. F 4
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ﬂf:l' 2 e - (Boolean expression)
PV (~p~q) =1 FYLT (Negation) 7 5 ¥
e 99 272

Options :

40503641787. P74

40503641788. F
PA~q

40503641789.

40503641790, F 74
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Question Number : 71 Question Id : 40503611526 Question Type : SA Display Question Number : Yes
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Set A has m elements and Set B has n
elements. If the total number of subsels of
A is 112 more than the total number of
subsets of B, then the value of m.n is
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Answers Type : Range

Text Areas : PlainText

Possible Answers :
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Let f: R—R be defined as

| x '=,m|:L x<0

s

f(x]=r 0, =1

| x° Cﬂﬂ[i. |+ axZ, x>0

l

The value of A for which f7(0) exists, is
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5t0 5.002
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Let AD and BC be two vertical poles at
A and B respectively on a horizontal
ground. If AD=8 m, BC=11 m and
AB=10 m; then the distance (in meters) of
a point M on AB from the point A such
that MD24 MC? is minimum is
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If a and b are unit vectors, then the
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The angle of elevation of the top of a hill

from a point on the horizontal plane

passing through the foot of the hill is found

to be 45°. After walking a distance of

80 meters towards the top, up a slope

inclined at an angle of 30° to the horizontal

plane, the angle of elevation of the top of
the hill becomes 75°. Then the height of
the hill (in meters) is
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